
PROBLEMA	
  1:	
  POLARIZACIÓN	
  DE	
  MOSETS	
  
Calcular	
  las	
  corrientes	
  	
  y	
  voltajes	
  señaladas	
  en	
  los	
  circuitos	
  de	
  la	
  figura	
  
si	
  para	
  todos	
  los	
  dispositivos	
  |Vth|	
  =	
  1V	
  y	
  K	
  =	
  0,5mA/V2,	
  considerando	
  
que	
  en	
  saturación	
  se	
  cumple	
  ID	
  =	
  K	
  (VGS	
  -­‐	
  Vt)2	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



a)	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



b)	
  Del	
  circuito	
  externo:	
  
	
  

	
  
En	
  el	
  MOSFET	
  de	
  vaciamiento	
  Q2:	
  

	
  
	
  

	
  
En	
  el	
  MOSFET	
  de	
  enriquecimiento	
  Q1	
  la	
  corriente	
  
es	
  la	
  misma,	
  por	
  lo	
  tanto:	
  

	
  

	
  
	
  

	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  V2	
  =	
  VS1	
  =	
  -­2V



c)	
  Del	
  circuito	
  externo	
  
	
  

	
  
	
  

	
  
	
  

	
  

	
  

	
  
	
  

	
  
	
  

	
  



PROBLEMA	
  2	
  ESPEJO	
  DE	
  CORRIENTE	
  CON	
  MOSFETS.	
  
CÁLCULO	
  DE	
  R	
  

Parámetros:	
  	
  K	
  =	
  1mA/V2	
  	
  	
  	
  	
  	
  	
  Vt	
  =	
  1V	
  
Calcule	
  R	
  para	
  	
  Io	
  =	
  4mA	
  	
  	
  si	
  	
  	
  VDD	
  =	
  7V	
  

	
  
	
  

	
  

	
  

	
  



PROBLEMA	
  3	
  ESPEJO	
  DE	
  CORRIENTE	
  CON	
  MOSFETS.	
  
CÁLCULO	
  DE	
  Io	
  

	
  
Parámetros:	
  	
  K	
  =	
  3mA/V2	
  	
  	
  	
  	
  	
  	
  Vt	
  =	
  1V	
  
Calcule	
  Io	
  	
  

	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  



Resolviendo:	
  
	
  

	
  	
  



	
  PROBLEMA	
  4:	
  AMPLIFICADOR	
  EMISOR	
  COMÚN	
  CON	
  RESISTENCIA	
  
DE	
  EMISOR,	
  POLARIZADO	
  CON	
  FUENTE	
  DE	
  CORRIENTE	
  

	
  
Para	
  el	
  circuito	
  
mostrado	
  calcular	
  
el	
  punto	
  de	
  
operación,	
  la	
  
ganancia	
  de	
  voltaje,	
  
la	
  ganancia	
  de	
  
corriente,	
  la	
  
resistencia	
  de	
  
entrada	
  y	
  la	
  
resistencia	
  de	
  
salida.	
  
	
  β 	
  =	
  100	
  
Vbe	
  =	
  0,7V	
  



	
  Punto	
  de	
  operación,	
  sabiendo	
  que	
  IE	
  =	
  3mA	
  
	
  
	
  
	
  
	
  

	
  
	
  

	
  

	
  
	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  IC	
  =	
  3mA	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  IB	
  =	
  0,03mA	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  VCE	
  =	
  5V	
  	
  



Análisis	
  AC	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  



Ganancia	
  de	
  voltaje	
  

	
  
	
  



Ganancia	
  de	
  corriente,	
  resistencia	
  de	
  entrada	
  y	
  de	
  salida	
  

	
  



PROBLEMA	
  5:	
  ESPEJO	
  DE	
  CORRIENTE	
  CON	
  BJTs	
  
	
  

Para	
  el	
  circuito	
  mostrado	
  calcule	
  R	
  para	
  que	
  la	
  corriente	
  io	
  sea	
  de	
  
0,5mA,	
  con	
  Vo	
  =	
  2V.	
  Considere	
  β	
  =	
  100	
  y	
  VBE	
  =	
  0,7V	
  



PROBLEMA	
  6:	
  AMPLIFICADOR	
  COMBINADO	
  CON	
  MOSFET	
  Y	
  BJT	
  	
  
	
  
En	
  el	
  siguiente	
  circuito	
  determinar	
  el	
  punto	
  de	
  operación	
  de	
  ambos	
  
transistores	
  
.



Punto	
  de	
  operación	
  del	
  MOSFET	
  de	
  vaciamiento	
  

	
  
	
  
	
  
	
  
	
  
	
  



Punto	
  de	
  operación	
  del	
  BJT	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  



PROBLEMA	
  7:	
  EL	
  MOSFET	
  COMO	
  RESISTENCIA	
  
	
  

Para	
   el	
   circuito	
   mostrado	
   se	
   han	
   hecho	
   mediciones	
   experimentales	
  	
  
sobre	
   el	
   circuito	
   y	
   se	
   ha	
   comprobado	
   que	
   el	
   MOSFET	
   no	
   está	
   es	
  
saturación.	
  Si	
  vi	
  >Vt	
  demuestre	
  que	
  v0	
  =	
  VDD	
  rDS/(rDS+RD)	
  



	
  

	
  



PROBLEMA	
  8:	
  MOSFET	
  Y	
  ZENER	
  
	
  

a) Dado	
  el	
  circuito	
  mostrado	
  en	
  la	
  figura,	
  calcule	
  los	
  valores	
  de	
  R1	
  y	
  R2	
  
para	
  que	
  ID	
  	
  =	
  0,5mA	
  y	
  la	
  corriente	
  del	
  zener	
  esté	
  75%	
  por	
  encima	
  de	
  la	
  
corriente	
  de	
  prueba	
  del	
  zener,	
  IZT.	
  El	
  zener	
  es	
  el	
  1N4374A	
  	
  

	
  
kn’W/L	
  =	
  1	
  mA/V2	
  
	
  
Vt	
  =	
  1V	
  
	
  
λ	
  =	
  0	
  
	
  
	
  

b)	
  Seleccione	
  valores	
  comerciales	
  para	
  las	
  resistencias	
  R1	
  y	
  R2	
  y	
  calcule	
  
los	
  nuevos	
  valores	
  de	
  la	
  corriente	
  ID	
  	
  y	
  del	
  voltaje	
  en	
  el	
  zener.	
  



Características	
  de	
  los	
  dispositivos	
  
	
  

	
  





Cálculo	
  de	
  R2





b)	
  Análisis	
  del	
  circuito	
  con	
  las	
  resistencias	
  de	
  75Ω	
  y	
  7,5KΩ	
  



	
  



	
  

	
  



	
  

	
  
	
  
	
  


